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1) There are 5 boxes, and each box contains 23 pens. 
How many pens are there in total?

x

Solution:

Therefore, there are 115 pens in 
total.

2) A garden has 32 rows, and each row contains 7 flowers. 
How many flowers are there in total in the garden?

x

Solution:

Therefore, there are  ______  flowers in 
the garden.

3) A bookstore has 4 shelves, and each shelf contains 44 books. 
How many books are there in total on all the shelves?

x

Solution:

Therefore, there are  ______  books  in 
the book store. 
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Read the given statement and write 

the correct answer 
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4) A sports team has 46 players, and each player needs 3 
uniforms. How many uniforms are needed for the entire team?

x

Solution:

Therefore, the entire team needs _____  
uniforms.

5) A factory produces 56 bicycles per day. If they work for 8 
days, how many bicycles will they produce in total?

x

Solution:

Therefore, the factory will produce a 
total of _____  bicycles in 8 days.

6) A farmer has 9 baskets, and each basket holds 60 oranges. 
How many oranges does the farmer have in total?

x

Solution:

Therefore, the farmer has a total  of 
_____ oranges.
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Read the given statement and write 

the correct answer 
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7) A hotel has 22 floors, and each floor has 7 rooms. 
How many rooms are there in the hotel?

x

Solution:

Therefore, there are _____ rooms in 
the hotel.

8) There are 58 students in a classroom, and each student has 4 
textbooks. How many textbooks are there in the classroom altogether?

x

Solution:

Therefore, there are _____ textbooks 
in the classroom  altogether.

9) A train has 62 carriages, and each carriage has 6 windows. 
How many windows are there in total on the train?

x

Solution:

Therefore, there are _____ windows in 
total on the train.
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Read the given statement and write 

the correct answer 


	Default Section
	Slide 1
	Slide 2
	Slide 3


